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HakailenishaN=kale)
Was Nn'*Tinnn 0'n from TiMn?
According to NID0IN and W”X1 she was.
(- M) NTINMNN DN
(:X2 N2W) NNIN DY ™MYND INTIMNT XD NYONW TV
DA '22pN NNIX NIXT [AIN1T Y INANETINN N 12'DX1 D210 TAIVA 'AN NI ProDp
1N2'1 'NIMN NIWN DNDD 1290 [IN1IF 1 INK XN X110 XO1NRT NI D1 TINAnnN
TN NNOW 'TAY DIYN AN TN X201 N1 'ADD XD XNV 'NNTIMNN [AN1F T XADKNI
(:1"0 NIN2AY) DY NI DIYN NN

Could someone become a |[IWNwV 1'n or a 1'n nowadays?
The 7"2X0 says it is 1IOX maybe the D"2NY would agree that it is 10N outside of YIX
DN
In DXW' YN the TIV DT7an would say it is ININ if the person was >Tani N2'N NT'w2 and
1INV according to the D"2N, but "2 might say that even so it is 110X according to the
D"an.

(X2 NdYN 2"D NN NIDYN 0"aMm)
The problem is that he shouldn’t become XnU. A |IwnwY 1'1 could become NN XNV so
would even the 72X agree that it is ok to become a |IwnwW 1'7 nowadays?
The NIwn says NNNIV [20p X'2N 12'X XNV DXI which might imply that Nn2'NN25 he
shouldn’t become Xnv, but perhaps that [IW? is only for the Xw™ which said 121 D21y ')
NNNIV |20 N'AN XNLI DNI .

Q°>MB
Don’t drink and pasken.
Don’t drink and daven.
It impairs your judgement.
Don’t drink and drive.
Just do the niixn of the day without drinking and driving.
(05> DM2T) 0N NNAI
(17 02T) DMyn '21'VY 0ON1'A1 DDNNON X' D DN'WYIE DN
(T NYNP) N'OYa N'NN NNONN NVT NN
Here are some Rabbi’'s who were In"'WDIN Np that pIOD in NONp:
CTOam mdwn') now 1 vy .1
A N N 2
(¢TONM2Y) apyr1aNNR 1 .3
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An English Lesson
An english lesson for a D211 71PN who might not be as familiar with expressions in english.

“Fat Chance” and “Slim Chance” mean the same thing. | want to say that “Fat Chance” is 11711 >0 Nw>.
In 1217 they say:

(.7 P13 °02w ) (.12 1 P RRYAT) 1712 NNap XD X o R

The Big Question You Should Ask Yourself:

Should I be learning Daf Yomi?
What about learning in depth (71°u2)?

(.30 NAW) M0 TTM W rx Mad .1
X7202 °1°U 7T 7T 2703 X033 P00 XTOM T N0 R 13 XM 12T XITTIRT D .2

(.92 7210)

What if until now | have been learning |I'V]1?
X3 00 DRUNY” T PRR? XNX PR 0p R 28N KT XPU T PR XK XU X0wp XD
(.2° P21°L) X120 7201 X2°PYU 1T AR XOK 7T

Maybe you can understand all those XnJ’s to be talking about within one N2J0nN, but after finishing the
n2on with MW’pP3, one should go back and learn it up 117027 | want to say the X711 in N2W is a i°X7 not
that way.

PP XYY XIPA PRI XITT M XD 0"wi 2127 7D X103 MM I 70 10 12 X3 72 X102 21 70K
(.30 NAW) M2 1T WK NNRPDT DR 2XN XNW TU WD

He first learned all of 0”w.
By the way there were at least two in 0”& who finished all of 0”w by the age of 18:

(Jonaw) XM .1
(Mapm) Xt .2

OK, so after you finish all of 0" (i.e. one daf yomi cycle) perhaps you should give up daf yomi,
because it is time to do 1’113, as the X1 says 71205 77,

| want to say all these D°’X17X prove otherwise.
(:M2 M2712) 77727 3O "7 PR PTINRDN TR PRY PRPN 92 XaK 72 XM T

(:ro @°noD) 121 TPTNRSN D 7T PRr PRPN 52 Nww '
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27 17 H’DP'? 2P 7N MINPIw 0P ' A0 PIN’T PUIIN PN°INN 77010 Mo W’P‘? 7 X1 D
X277 TI’DP'? 2711 0°21N21 D°X°21 77N T 13’7 U271 AL 1°0°INN 77010 120X 11 XX

(.m 3un)
This is all fine if you learn only M’ and you never learned this Ma01N:

T1P TP TR D2 KX 1TINPN D2 XP1TIKD  TIndN 7T0n par pnen 9 17 'on (i mama
TN DWW 012 1307 D NN P 01 0°Pwhwa

Etc. Etc.
Should I learn *noun?

27°19% 7N 70197 52 10T KNP P02 110K 120705 PaK T 0w 92527 XOW 27U TX 27 XD
D9IWY 11272 2’0 IR IPK TIX

(727 777 °NAT AT 'O L PaL)
The MW often has different XO1'A’s than the '>12.
QXTI O°XIN
(.2 777 ML) XN 127X
(.D Naw) XOr 72 XA 12 °727aX
(.73 P217PY) XO1T 112 XA 12017 7AX
Now to connect all these X171°1’s:

19N DN 11X DU W 72 1K 101 I3x7 D02 KD 1K ALY >0 NKD KT AWH 0 10 X0
("7 71Iwn 2 P72 MAX *pIn) YD

NXT2 X AwH

N1 DAWA DX X7 00w XD X7 0°0 1207 K21 X0 07w X? 2°N0T °XA XOTT 12 XA 12 02 TaX KT
(.71 P217PL) FPINX AU PIY DX X 077 7287 OX) PINR MU X anx

ANXT2 9N AR °T2

MR N7 WMWK %2 M22°P 177 12 D"UX X217 1K XN7NIKD 7127 7UTIR X7 2p0° 12 XX 110K
(.19 N2AW) 722 1%2pWw 17 17°P 19271

ANXT DN NXT 512

DX D712 7K1 N°30 100 DX 0750 n"apn noow TN XOM 112 XA 12°10° 7K 27 10K 0 DPNNN2 12807
(.72 Naw) 0oNM2AP XN oW XD OX1 2V NN D"?ZIPD onx

ANXT2IDN DANX X9 Suaw 1

(.0™ 1"U) WD T NN 0K *2 TAKIY XD 1 AW A2 TN PO1U 92 XA 72 07X IR
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MAAX 92 XIX "M

The MDOMN in(: 2L 2w O A77) PYITR says that XX 1 was 0°72° XN (lived very long) then he brings
the "7 who says that there were two 771271X 72 XX "7's.

Why is the >”71 so sure that there were two 11211X 72 XX "1's? What is wrong with the first Vw5 in MDOIN
as the X731 says in 2 T7NU 2 77 021N that he lived very long.

| want to say the basic answer is that if the 727X 72 X7X "1 who lived in the times of X237 was the same
as the one in the times of ?X1n1 27 then he would not be considered a 715N of X27.

| think this X771 in 7’11 is another 7°X7 to the >"1.
(:137°13) X7 "% XU Y 07X XD 712X 72 XTI 73w 0010
It implies that 127X 72 XX "7 died in the lifetime of X117 "1, whereas the X771 in X 710 12 77 X702 X212

implies that he died in the times of pri¥> 72 1M1 7, so this might be a 7°X7 to the >”1.

The son of X wn '
(.M P2PL) 1720 VIR 1P K

What was the son’s name?
Could it have been &1717?

(:n 11) X27% RWIWn 72 X271 770 0K

All or nothing
(U M) Maxa X591 X122 X9 xN250 D

The 112577 is both like the father and like the son:

(:70 Mn2)
All:
ANXY 02 T P13 °170 T0X XK T T 7713 23770 100 TAX 70X 2177772 120 DX IR 7772 ]’3’7:‘!73 1k
D71 0212 77 .01 Anna T PR 112370 TAX K 7 07 PRY 71 0170 TNX
("1 2" M1 MaYn 0"and)
Or Nothing:

121X 1772717 XY X0 unY 11’3'1?{1?'? 921 7T 023w 10 AKX T2 X2 TOX IR 772 '[’3'?17?3 oY DY
PIIAR? M XK DU WA XD 01 NUAY TP OX P10 IR 0K 12X 77 OX P13 °1°77 07 X X0
(M"72"s M m%n 0"an) P AN INX PX X7 N7 X921 0Prun 0oun
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(2 Parrw) *or Mo Aabr oy " AT M
0P "7 wasn’t quiet:
PO XN 7N 7N POW 0P DU AN 20W XN 1TAK? 20 " INK
(.17rn)
712777 NX w1225 DA °192 A 17727 2200 0K PWIW AT °27 7199 2727 2200 ANX 071 0P 92212 K

(.p ©°OD) N°12°NY

(X:1 NoOX Nan) X1 O

Two times in 0" that shoes were worn backwards:
Frontside back:
(:r1 m™M22) 7°5 7107 12X
Right and left:
(:2° nP3un) XOXNYH X127 050 X013 N
Upside down:

D1PM XOX 11171 IXAT 1P 0221877 D901 XXM 277 90 22K 727 0K N DD 022190 0°huin
(.12 Mn2’) o 0°5uIn

The >”¥1 on that says : “rTN? 7’0"
Also °07 "1 1717’ "7 and upside down:
(1" 7¥°2) U5 XIW2 0T TPINKA NAN? XA 0T PINK2
And then inside out (77 777? “71°01 7, but not connected to “shoes”)
TUMN XPW INIK P01 227 AT 10027 000710 19K DA DN 19K DPIXNT 000 Il X1 021X Il X

(:7% 1) D2y nInm N NN IR0 Dw N

What is in your Nin mbwn?

Is it easily digestable?

An English Lesson
Theoretical origins of the word “digest”.

| want to suggest the English word “digest” might come from the greek words “1>7” which means two



n”a

"I qT

DREF B0 INSIESTS

(.1 pa1u)
and the word “X100)” as w1 says in X 70U X2 P2 :
X003 P OIS P12 127 9

Revenons A Nos Moutons (“Returning to our sheep” french expression for “getting back to our subject”)

What is in your nun mbwn?

Is it easily digestable?

XI¥ XD X X112 NP0 79 10K XN °30 0D 7100 102 10K 00T XPTPY P9 12279 XN2TA0199 UK XU
XM»TIXD PO *XPI21 KNI XNINT XND XIX XP1 TAK 1MUY X951 XN»1IKA °pou X7 °XP3121 XN XwarTT

(.no o°rioa)

MR 52 Pou D1 PO RS KT 1T 7130 K X2 0’02 M TPALT 210 10°0N 12 X12PW 2270 D 17w 1R
(.T? ©°10D) 07N 110N IAX PIUY X°9°H1 DYWAW MM

Does it include Candy?
Is there room here for something about dessert and sweets?
(:29 P1PU) POwW N7°02% XM
There is always room for dessert.
An English Lesson

Candy: A sweet food made with sugar or other sweeteners typically formed in small, shaped pieces and
flavored with chocolate, fruit, or nuts. -Oxford

Fruit, or nuts. -Oxford
Dessert according to X2°w 72 712°311 7 and 1 "

(:v°p O°1OD) D NAXI NPYP 071N NI
and 77 "1 implies the kids like this as well
(.0 XIP¥A X22) 1DEX X122 122370 KW 2190 MP1PN? Prax1 nrdp 2mns o X9 ik amnm 1
In my shul there is a man with a Tallis bag that says on it X1 *Tiup.
The word >T1UP might not appear in 0", but there are similar ones:
(.79 XY) 2T

This is part of an incantation
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(.5 o’mon) 71
This means “pots”
A diseminator of >71J is called a Xp1712 :
(:0n 7P91)
Now meat for dessert is not a foreign concept. Take the 1’ of PX11W for example:
(:’p D°MDD) XAXKD KDNN D KPDTTIX 132 AKX PRI
Artscroll write that according to the 1”1 the X2 TIX are a type of poultry.

M13°P2 NP1 XD D°U27XK 921X 772 2273 XA "3 M 07234 NIXR '3 921X 7AW °X273 12 13me 24 150 1K
(.11 »’noB) TMuD

Bonbons: French for candy
(. aran): a3
This was U177 71X172121.
His sweet dessert might have consisted of Live Rabbit.
(.70 0117) 7P K2R ’?’DNP M7 X711 PRIX 1P MIOWX
(:7% i) ran ra

This is referring to the pulp of the grape which might be sweet

1’ 0121
(.73 PYPR)(.170 P1L) 1 0133

Some M%7 for > NB
Don’t drink and derive: (“Unwn this way Unwn that way, ok 712971 poD is etc...”)don’t drink and pasken.

(.70 P21E) M DX 1> °U 27 ANW 27 K T 1K

X7 T DM TI0 D213 20X MK TXIY 1742 NITX PRMM P30 MK NUWA 130 220070 22 AP 110X
P’DNIPKY 92 K IAY 7 IMAW D°9M P?OXD D113 102 1733 PTIX 2°NT X1 MAUT XIWPD pPEX KT Unwn
7 PURYS PNPY 100 DWW 277 DWW 27717702 XK 17172 °K0 0D 1721 10D 12 inwn PXIp Ton nnx
(.710 P1PY) DWW 277 7D 100 1 DWW 277 79 1R
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Don’t drink and daven. The MWW for pOR is a MW7, so what is the MWW for davening?
The MW for 01271 NX 1213172 which we had in X> 77 13 is until he is V12 Sw 1N Wi
according to the 0”2n7 at which point his words are meaningless.
(2™ 12571 X"n M1 Mabn 0"ana)
Don’t drink and drive.

It impairs your judgement.

Field Sobriety Test:
Walk a Straight line and Count to Ten.

(23 7%>2) Hrat "t TuHK" XaX
Two D’XTNX from X*pP1r1o:

(ApPPu) X7 1
(M2 i) xra7 .2

(Qu:w>p ©°51N) 7O 2777 *EHKN E NN P Y
uh"
Gelt
Three XnY's on both 177 and 1% 77 of the same NJ0N:

(M) Pron P vy amewR L1
(Mn2) PTax M PR M xa7 .2
(Pr)or M oun .3

Three places that »2X calls the bluff:

XTI DK PN NP0 10D PP 10K XIXPY XIPAYT XID X0 P2 00 i Ak L1
(.1’ NAW) 13271 NP 122 D K

5NN 1127 10K 227 T DIRN R 0P Il P K AT Rp XNKT RPN XIAT .2
TINTR 122 P K P2 TR M XN 12 D INK XD X921 X3T2Un
(.TOP XN X32) 1327

X212 X7 XONXT KIUTX XD1 772 77 772 X077 X703 1KY 2720 XIX XDD T IAK .3
(.0 1) P2

(.23 PYTR) (XD MNnD’) 0PN PP 17 RPN
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(.19 Xn1°) °277 PPRR X0 2°09 Mh 27
He started again from the beginning 3 times before he said
"1 171 KT 910
The XIN named 1P’ 1 appears on 2 710U 7 A7T:

(7210)(7°n)

9°12°01
Rav4 (a Suv model, make Toyota): Four and “17”:

(.21 PRTR) UAIX PRPINANA 1PR UNRY 27 10K
(:102 7210) 121 PAWR PRYP 2" °023 07127 UK 92w 27 K
(.72 Xv) AR PP 220 T MTAY AU2IX 27 0K
(.X2 Mn2°) 121 PODT 1P W2 W3 UK 27 0K
N2 79190 7197020 *XN TN 02109 111 0°N2 21w TNKT RN XOX
(.33 P2IPY) MINT UAIR DIP PR 1K UK DR XIRN
(> M272)(:1 M272)(.23 PRTR) WA Iwnn
PO X Awnna nwnn

The phrase P51 X appears five times in *222 on a daf that ends in “5”
WM awnn
(:10 ©°2pw) 1T P DU Awnm 7T MR 28 Awnn 121 9X00na 1 en 1
(.12 °13) XD WAM XNPRI0 AN P72 71302 27 WP 10 DPWT WU UK 1 0K
(:0 NAW) 7112 WM 712 wnn K e
(:00 X3T) 71 °7 72 D K

(:22 1un) 77 27 72°17 X

Field Sobriety Test:

Walk a straight line and count to Eleven.
S
He holds 1:

(:1n 110) oI P 53
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He holds 2, 3:

PR AW NAX NP PW PIw 712787 NAXI 9173 72780 DAX W9 01 M2Iun 02N 1 0 922 32710
(. Xnr) M 1127 0r2 13

He holds 4:
(:x° 0’10B) UaIX ! ]"7312( X T M
(12 M272) Muw "7 IU NI AT M
(.7% o’r1oD) ]"7’73 U2IX 0°221277 NXX TU 7000 NWRYwNR 10X AN M

He holds 5:

(:7m 7WVID) IR U ]Tl"?SJ 1’201 '?1|7W P 2 PX DI PUDIW DI PIRT IAKIY AR INIK T
(.XP MnN22) 711X 0 IR Y ]Tl"?U 1’2’01 '71|?W P72 PR D2 D237 DI C3RpT 01 AR NIK AT
He holds of something which is &>71n1 of 6:
(.o rn ’DbWﬁ’) AN " 0N XIN XN
who is the XIN who says for the 17 to be true they have had to say it with a vuv
(X1 .. °IX))

Itis 777 "

He holds 5, 7:
(.13 71210) wAn D! XX UAW D011 01237 NI AT
He holds at least 7:
(:311 7010) wawn MY’ X2 NMOT I AT
He holds 8:
(:nn 1210) MNY 9
He holds 9:
(:102 0771) AT 2727 17 27 AKX TN 0K 121 DU Own
(© ﬂb’JTJ) TP WX AKX AT M

this is in 2 P19 of INOX N°31 so it comes out that 7717 "1 requires 9 0°P710 to be read as the minimum
to be XX the 12> NP,
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He holds 10:
| am putting this for now until | find where he holds 10:
(:77rn ’D’?Wﬁ’) ™" 077 MUK T2 P’ N
He holds 11:
(.71 ©@°10B) NAKT AX MK AN 1121 MW P2 NAW 27492 1X7123 02727 7Y XN
Tongs:
(.71 ©°1oB) XNAX

(.3 P11 n5e) X291

Field Sobriety Test:
OK, you passed.

High five.
Five and >X27 12 13m /:
(1 Mwn 2 P79 Max *pIo) 07PN
Five and X2°pu 1 :
(:20 M) D7D
Five and X22 72 i "
(.12 M272) 0127 AWRT U X2 A AT
Five and >01 "7:
(:1°P NAW) DX DX WA NULN
Five and nunw ":
(.1 9°3n) X177 727920 K A XN

This is 1 2719 so the total required 0°p710 for the 21 to hear 19°2ni1 NWTP according to NUAW s 5
o’po.

Five and 77> ':

(.Xp Mn)(: 7 rwvio)
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Five and 7°Xn "1:
The number of N127UN on M2°2 O

(.rin xnP)

2 ,X° 0,0 TR nunw "M

(.0 pP"n) v

(7 P13 °n%w1) > oM MURK T2 PR 1 INK 2
(13onhe) (X0

(.2 7)o

Criticism against 13°113 /72 °01 '1:
(.20 n1) X37una AP NN

(:230 PAW) AR " 72 TN

001 SW NOIN N2

TU 0P N MWHOK 1P5HJW X00121 WK WY 712 D00 PW N0 N2 WL 792°17 217K
M X2 DX 23RN K Y Xno’p 12°07 "N INX P oW P N0 Uplw XPX 7"0 jiiniRisialanialuoRiininli/
H) D"?PW) 177 77248 N°2 177 N0IDA N’

What is a connection between the N7 between >0 "1 DX "1 and 7177 7771242 | want to suggest it
is like the X711 says in N2

X INNM2 P72 UIRR0 N A BT N 0w XY XK T2 XD DR TIK UK 11 NUne ' XN
T2 1D TR TU 3 WD TAK NP 73 WL TR 0P8 " S nInIX oW A7 Ta0 7200 e
(:7p MAW) .72 M 'y

The main point here is that it was JN7212 in their anger, even though that was just the X1*X M7, still
etc...

Artscroll say this 0”071 Y& N0I271 1’2 was in 717120, (Perhaps it might have been in the same place as
the 72°w”)

There was a 0’0710 Pw NOIJ7 N°2 in 021 which Tw°PX "1 was involved in.
(.12 772°31) 127X 52 71 mwn WWHK MY 1monw 00 A PR 07011 YW N0IIN NP2 TwLn AN 1K

WY MDD XOK 221 1KDT 230 X? INUT KPP0 PrOn NN NK 12 Pron mawn 12 pawnny 1"002 0K 1 nK
(:r2 ) M¥n NN
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MU D°XD177 921 XD 017N NI231 1IN MM 07070 YW N0 1722 mnky mxeon 1212 120w Awun
(.237°11) TIAXR NN TR XD PR IINAXK)

Not the same meaning as usual:

Google Appscripts Code:
function myFunction() {

const mmwn nw? = SpreadsheetApp.rn.omm();

var deja vu = SameDifference.getActive();

("'WIR NITININ"T 22 DT WRIN WN'D) N1IYN 0" ||\’Jb\’J NON

“As Rabbainu Tam observes in Sefer Hayashar regarding this passage, “the language of Tractate Nazir is
unusual.” (Artscroll Nazir 4a Note 1)

(:1° P13 oSN ) AwUR AWLN Xon pniwn .1
| don’t think this means a Twu? Pn°1i XS,
(D) oncnI RN 2
Artscroll note 9: “The term is not used here in the usual sense etc..
Qualified Definitions in 7°11 noomn:
Drunk but not really drunk:
The MW for 01271 NX 12 1317 which we had in X> 77 11 is until he is 12 2w 1M72WS Wi
according to the 0”2n7 at which point his words are meaningless.
(2™ 12571 X"n M Mabn 0"ana)
Full but not really full:

NI U 210 19°2XA KR WRIY 1132 X7 XIFM w2 Moa NI 21”11 107 0" 0N )
NAXRNS D12X5 247 1KY XOX 71X WD PRY

((T2up X moa "7 'on .30 n)
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AN 72°0P "N WK "M P2 U XDT U
PI KIX 779 1K 7IAK PAXK 27 712700 1 RTT R 112 120 X9 PD K 101w T 1PRRD XNK
(.72 mun)

OK the distinction is still clear.

(:7 1 RPYT) XY WA X P12 °272°07 1K
(.71 713 X123 DND) AWTTY XPT NMINR TN KDY 77 K
;XN 0NO
"X IO WK W PR KoM
(2 PDn NN XIX 717 '0nN)

| can’t see the difference, so was | X¥1°?

IR0
(:13 m272) A"wwn n'wnn

If >°01° "1 had five sons from five 1112”’s does that mean he was one of six?
(oW 'O PR NAY)

WA OW A0 DYDY AWK P2 NAW AN 2w P2 DT O I 122w 727 X22 12 AN T AwL R
(:1 777 72L) PR M AX 701 XK 2T N 2 TTUOK N nunY "N eor M amm mnt 0Pt

He gave 72’10 to five, and X*1X "1 says he gave 172’10 to six.

IR0
2"

INX WK 27121 021718 2737 30 2N WINW 20N 191 27 1PRIX 27N 2110 27N 27 177 02207 AU X700 1 NX
(.71 XNAP) 210 271 277 72 DPX T T 9 1 aownn

The 1’0 is the N1 of the letters in 271:
7,5,and 2
So X701 1 says there are 7, and WX "1 says there are 5 and each one has from the 2.
(.1 71210) 01772 121 wWan D¥1I XX U2 P11 01037 TR TN
The 12°0 is the NP1 of the letters in 277:

7,5,and 2
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The enterers took 7 and the exiters took 5 and they took the 7 and the 5 017721 19X%2

(:0 P2W) 3712 LAWY 712 YAW K X120 N 012 WM i wan K anre M
The 12’0 is the NNl of the letters in 271
7,5,and 2

So X111 "1 holds 7 and 71171 "1 holds 5 and the 2 which is X>71n3 of 2 which stands for 7121 1712

The conceptual D”win NION
(.an ') IND'ALNTNT YR NNX NNYY MY 1MW ND'AY 1T YN 'Y
N2 AN TN IVAWI [2IXIN YIN DTN 922 MNIM DX NN N K "IN YA
INDINIW NONT 'NI XNDT I KW ORT 'R0 AN M 1NN [IvAw! |2IKD
(:2D ['0'A) TON NWT
INOWUNY TV INNOI N'T X'XIND 2p'I ITN1INNDINT X'XIND 2P Nprn 'va .3
(:2'p NAY) 1NN [INN X'XINS
INN NI MHYNY TV NTAI AKX YID1 NN ITALNN YD 10D X'VA'N .4
(T anw)
IMNPN Sy DXWA1 D"PNN TNETAN DRI AN TN IDNT 1A D JOXN D .5
(.TO DT2) NNNX NI DNY [1'DAT 2" NP NNPY XN PINT RN XNMT 1NN

N



